Bulletin of the Iranian Mathematical Society Vol. 37 No. 1 (2011), pp 131-141.

A NOTE ON THE COMPARISON BETWEEN LAPLACE AND SUMUDU TRANSFORMS

A. KILIÇMAN^{*}, H. ELTAYEB AND K. A. M. ATAN

Communicated by Mohammad Asadzadeh

ABSTRACT. In this paper, we discuss the existence of double Sumudu transform and study relationships between Laplace and Sumudu transforms. Further, we apply two transforms to solve linear ordinary differential equations with constant coefficients and non constant coefficients.

1. Introduction

In the literature, there are several works on the theory and applications of integral transforms such as Laplace, Fourier, Mellin, Hankel, to name a few, but very little work on the power series transformation such as Sumudu transform. This is probably, because it is not widely used yet. The Sumudu transform was recently proposed by Watugala; see [12], [13]. The properties were established in [1] and subsequently applied to partial differential equations; see [2], [4], [7] and [9].

In our study, we use the following convolution notation: double convolution between two continuous functions F(x, y) and G(x, y) given by

(1.1)
$$F_1(x,y) * *F_2(x,y) = \int_0^y \int_0^x F_1(x-\theta_1,y-\theta_2)F_2(\theta_1,\theta_2)d\theta_1d\theta_2;$$

*Corresponding author

MSC(2010): Primary 35G15; Secondary 44A85, 44A35. Keywords: Laplace transform, Sumudu transform, convolution. Received: 22 July 2009, Accepted: 15 December 2009.

^{© 2011} Iranian Mathematical Society.

¹³¹

for further details and properties of the double convolutions and derivatives, we refer to [8] and [10]. The single Sumudu transform is defined over the set of the functions

$$A = \left\{ f(t) : \exists M, \tau_1, \tau_2 > 0, |f(t)| < Me^{t/\tau_j}, \text{ if } t \in (-1)^j \times [0, \infty) \right\}$$

by

$$F(u) = S[f(t); u] = \frac{1}{u} \int_0^\infty e^{-t/u} f(t) \, dt, \quad u \in (-\tau_1, \tau_2).$$

A sufficient condition for the existence of the Sumudu transform of a function f is of exponential order, that is, there exist real constants $M > 0, K_1$, and K_2 , such that $|f(t, x)| \leq M e^{\frac{t}{K_1} + \frac{x}{K_2}}$.

2. Existence of the Sumudu Transform

Theorem 2.1. If f is of exponential order, then its Sumudu transform S[f(t,x)] = F(v,u) exists and is given by

$$F(v,u) = \int_0^\infty \int_0^\infty e^{-\frac{t}{v} - \frac{x}{u}} f(t,x) dt dx,$$

where, $\frac{1}{u} = \frac{1}{\eta} + \frac{i}{\tau}$ and $\frac{1}{v} = \frac{1}{\mu} + \frac{i}{\xi}$. The defining integral for F exists at points $\frac{1}{u} + \frac{1}{v} = \frac{1}{\eta} + \frac{1}{\mu} + \frac{i}{\tau} + \frac{i}{\xi}$ in the right half plane $\frac{1}{\eta} + \frac{1}{\mu} > \frac{1}{K_1} + \frac{1}{K_2}$.

Proof. Using $\frac{1}{u} = \frac{1}{\eta} + \frac{i}{\tau}$ and $\frac{1}{v} = \frac{1}{\mu} + \frac{i}{\xi}$, we can express F(v, u) as:

$$F(v,u) = \int_0^\infty \int_0^\infty f(t,x) \cos\left(\frac{t}{\tau} + \frac{x}{\zeta}\right) e^{-\frac{t}{\eta} - \frac{x}{\mu}} dt dx$$
$$-i \int_0^\infty \int_0^\infty f(t,x) \sin\left(\frac{t}{\tau} + \frac{x}{\zeta}\right) e^{-\frac{t}{\eta} - \frac{x}{\mu}} dt dx.$$

Then, for values of $\frac{1}{\eta} + \frac{1}{\mu} > \frac{1}{K_1} + \frac{1}{K_2}$, we have

$$\int_{0}^{\infty} \int_{0}^{\infty} |f(t,x)| \left| \cos\left(\frac{t}{\tau} + \frac{x}{\zeta}\right) \right| e^{-\frac{t}{\eta} - \frac{x}{\mu}} dt dx$$

$$\leq M \int_{0}^{\infty} \int_{0}^{\infty} e^{\left(\frac{1}{K_{1}} - \frac{1}{\eta}\right)t + \left(\frac{1}{K_{2}} - \frac{1}{\mu}\right)x} dt dx$$

$$\leq M \left(\frac{\eta K_{1}}{\eta - K_{1}}\right) \left(\frac{\eta K_{2}}{\mu - K_{2}}\right)$$

and

or

or

$$\int_{0}^{\infty} \int_{0}^{\infty} |f(t,x)| \left| \sin\left(\frac{t}{\tau} + \frac{x}{\zeta}\right) \right| e^{-\frac{t}{\eta} - \frac{x}{\mu}} dt dx$$

$$\leq M \int_{0}^{\infty} \int_{0}^{\infty} e^{\left(\frac{1}{K_{1}} - \frac{1}{\eta}\right)t + \left(\frac{1}{K_{2}} - \frac{1}{\mu}\right)x} dt dx$$

$$\leq M \left(\frac{\eta K_{1}}{\eta - K_{1}}\right) \left(\frac{\eta K_{2}}{\mu - K_{2}}\right)$$

which imply that the integrals defining the real and imaginary parts of F exist for value of $\operatorname{Re}(\frac{1}{u} + \frac{1}{\mu}) > \frac{1}{K_1} + \frac{1}{K_2}$, and this completes the proof.

Thus, we note that for a function f, the sufficient conditions for the existence of the Sumudu transform are to be piecewise continuous and of exponential order.

We also note that the double Sumudu transform of function f(t, x) is defined in [5], by

(2.1)
$$F(v,u) = S_2[f(t,x);(v,u)] = \frac{1}{uv} \int_0^\infty \int_0^\infty e^{-(\frac{t}{v} + \frac{x}{u})} f(t,x) dt dx$$

where, S_2 indicates double Sumudu transform and f(t, x) is a function which can be expressed as a convergent infinite series. Now, it is well known that the derivative of convolution for two functions f and g is given by

$$\frac{d}{dx}(f*g)(x) = \frac{d}{dx}f(x)*g(x) \text{ or } f(x)*\frac{d}{dx}g(x)$$

and it can be easily proved that Sumudu transform is:

$$S\left[\frac{d}{dx}(f*g)(x); v\right] = uS\left[\frac{d}{dx}f(x); u\right]S\left[g(x); u\right]$$
$$uS\left[f(x); u\right]S\left[\frac{d}{dx}g(x); u\right]$$

The double Sumudu and double Laplace transforms have strong relationships that may be expressed either as

(I)
$$uvF(u,v) = \pounds_2\left(f(x,y); \left(\frac{1}{u}, \frac{1}{v}\right)\right)$$

(II) $psF(p,s) = \pounds_2\left(f(x,y); \left(\frac{1}{p}, \frac{1}{s}\right)\right)$

where \pounds_2 represents the operation of double Laplace transform. In particular, the double Sumudu and double Laplace transforms interchange the image of $\sin(x+t)$ and $\cos(x+t)$. It turns out that

Kılıçman, Eltayeb and Atan

$$S_2[\sin(x+t)] = \pounds_2[\cos(x+t)] = \frac{u+v}{(1+u)^2(1+v)^2}$$
$$S_2[\cos(x+t)] = \pounds_2[\sin(x+t)] = \frac{1}{(1+u)^2(1+v)^2}.$$

and

3. Convolution Theorem

In the next theorem, we prove double Sumudu transform of the double convolution.

Theorem 3.1. Let f(t, x) and g(t, x) have double Sumudu transform. Then, double Sumudu transform of the double convolution of f and g,

$$(f * g)(t, x) = \int_0^t \int_0^x f(\zeta, \eta) g(t - \zeta, x - \eta) d\zeta d\eta,$$

exists and is given by

(3.1)
$$S_2[(f * g)(t, x); v, u] = uvF(v, u)G(v, u)$$

Proof. By using the definition of double Sumudu transform and double convolution, we have

$$S_{2}\left[(f * *g)(t, x); v, u\right] = \frac{1}{uv} \int_{0}^{\infty} \int_{0}^{\infty} e^{-(\frac{t}{v} + \frac{x}{u})} (f * *g)(t, x) dt dx$$
$$= \frac{1}{uv} \int_{0}^{\infty} \int_{0}^{\infty} e^{-(\frac{t}{v} + \frac{x}{u})} \left(\int_{0}^{t} \int_{0}^{x} f(\zeta, \eta) g(t - \zeta, x - \eta) d\zeta d\eta \right) dt dx.$$

Let $\alpha = t - \zeta$ and $\beta = x - \eta$, and using the valid extension of upper bound of integrals to $t \to \infty$ and $x \to \infty$, we have

$$S_2\left[(f * g)(t, x); v, u\right] = \frac{1}{uv} \int_0^\infty \int_0^\infty e^{-\left(\frac{\zeta}{v} - \frac{\eta}{u}\right)} d\zeta d\eta \int_{-\zeta}^\infty \int_{-\eta}^\infty e^{-\left(\frac{\alpha}{v} - \frac{\beta}{u}\right)} g(\alpha, \beta) d\alpha d\beta.$$

Since both functions f(t, x) and g(t, x) have are zero, for t < 0, and x < 0, it follows with respect to lower limit of integrations that

$$S_2\left[(f * g)(t, x); v, u\right] = \frac{1}{uv} \int_0^\infty \int_0^\infty e^{-\left(\frac{\zeta}{v} - \frac{\eta}{u}\right)} d\zeta d\eta \int_0^\infty \int_0^\infty e^{-\left(\frac{\alpha}{v} - \frac{\beta}{u}\right)} g(\alpha, \beta) d\alpha d\beta.$$

Then, it is easy to see that

$$S_2[(f * *g)(t, x); v, u] = uvF(v, u)G(v, u).$$

Thus, the relation between double Sumudu of convolution and double Laplace transform of convolution is given by

$$S_2[(f * *g)(t, x); v, u] = \frac{1}{uv} \mathcal{L}_2[(f * *g)(t, x))];$$

A note on the comparison between Laplace and Sumudu transforms

see [11]. In fact, one can easily prove the following implications for existence:

$$S_2(f(t)) \Rightarrow \pounds_2(f(t))$$

Note that the inverse of implication need not be true; see [9].

Now, we let $P(x) = \sum_{k=0}^{n} \frac{a_k}{x^k}$, where, $n \ge 0$ and $a_n \ne 0$. Then, we define $M_P(x)$ to be a $(1 \times n)$ matrix in the following matrix product:

(3.2)
$$M_P(x) = \left(\frac{1}{x} \frac{1}{x^2} \frac{1}{x^3} \dots \frac{1}{x^{n-1}}\right) \begin{pmatrix} a_1 & a_2 & \dots & \dots & a_n \\ a_2 & a_3 & \dots & a_n & 0 \\ a_3 & \dots & a_n & 0 & 0 \\ \dots & \dots & \dots & \dots & \dots \\ a_n & 0 & \dots & \dots & 0 \end{pmatrix}$$

Thus, $M_P(x)$ defines a linear mapping of \mathbb{C}^n into \mathbb{C} in an obvious way. We shall write vectors y in \mathbb{C}^n as row vectors or column vectors interchangeably, whichever is convenient, although when $M_P(x)y$ is to be computed and the matrix representation by Eq(3.2) of $M_P(x)$ is used, then, of course, y is written as a column vector:

(3.3)
$$M_P(x)y = \sum_{i=1}^n \frac{1}{x^i} \sum_{k=0}^{n-i} a_{i+k} y_k,$$

for any $y = (y_0, y_1, ..., y_{n-1}) \in \mathbb{C}^n$. If n = 0, $M_P(x)$ defines a unique linear mapping of $\{0\} = \mathbb{C}^0$ into \mathbb{C} (empty matrix). In general, if n > 0 and f is n-1 times differentiable on an interval (a, b), with a < b, we shall write

$$\varphi(f;a;n) = \left(f(a+), f'(a+), \dots, f^{(n-1)}(a+)\right) \in \mathbb{C}^n$$

and

$$\phi(f;b;n) = \left(f(b-), f'(b-), ..., f^{(n-1)}(b-)\right) \in \mathbb{C}^n.$$

If a = 0, we write $\varphi(f; n)$ for $\varphi(f; 0; n)$. If n = 0, we define

$$\varphi(f;a;0) = \phi(f;a;0) = 0 \in \mathbb{C}^0.$$

In the next section, we give the Sumudu transform of higher derivatives.

4. Sumudu Transform of Higher Derivatives

Theorem 4.1. Let f be n times differentiable on $(0, \infty)$ and let f(t) = 0, for t < 0. Suppose that $f^{(n)} \in L_{loc}$. Then, $f^{(k)} \in L_{loc}$, for $0 \le k \le n-1$, $dom(Sf) \subset dom(Sf^{(n)})$, and for any polynomial P of degree n,

(4.1)
$$P(u)S(y)(u) = S(f)(u) + M_P(u)\varphi(y,n),$$

for $u \in dom(Sf)$. Thus,

(4.2)
$$(Sf^{(n)})(u) = \frac{1}{u^n} (Sf)(u) - \left(\frac{1}{u^n}, \frac{1}{u^{n-1}}, ..., \frac{1}{u}\right) \varphi(f; n).$$

In particular, if n = 2, then we have

(4.3)
$$(Sf'')(u) = \frac{1}{u^2}(Sf)(u) - \frac{1}{u^2}f(0+) - \frac{1}{u}f'(0+).$$

Proof. We use induction on n. The result is trivially true if the case n = 0 and n = 1. Suppose now the result is true for some $n \ge 1$ and let $P(x) = \sum_{k=0}^{n+1} \frac{a_k}{x^k}$ have degree n+1. Then, the first two statements follow by putting z = f' and using the induction hypothesis. Now, write $P(x) = a_0 + \frac{1}{x}W(x)$, where, $W(x) = \sum_{k=0}^{n} \frac{a_{k+1}}{x^k}$. Then, $P(D)f = a_0f + W(D)z$ and therefore,

$$S\left[P(\dot{D})f\right](u) = a_0 S\left[f\right](u) + S\left[W(\dot{D})z\right](u) - M_W(u)\varphi(z;n)$$

$$= a_0 S\left[f\right](u) + W(u)\left[\frac{1}{u}S\left[f\right](u) - \frac{1}{u}f(0+)\right]$$

$$-\sum_{i=1}^n \frac{1}{u^i}\sum_{k=0}^{n-i} a_{i+k+1}f^{(k+1)}(0+),$$

using Eq. (3.3) and $z^{(k)} = f^{(k+1)}$. The summation above can be written in the form:

$$\sum_{i=1}^{n} \frac{1}{u^{i}} \sum_{k=1}^{n-i+1} a_{i+k} f^{(k)}(0+) = \sum_{i=1}^{n} \frac{1}{u^{i}} \sum_{k=0}^{n-i+1} a_{i+k} f^{(k)}(0+) - \sum_{i=1}^{n} \frac{1}{u^{i}} a_{i} f(0+)$$
$$= \sum_{i=1}^{n+1} \frac{1}{u^{i}} \sum_{k=0}^{n-i+1} a_{i+k} f^{(k)}(0+)$$
$$- \frac{1}{u} \left[\frac{1}{u^{n}} a_{n+1} f(0+) + \sum_{i=1}^{n} \frac{1}{u^{i-1}} a_{i} f(0+) \right]$$
$$= M_{P}(u) \varphi(f; n) - \frac{1}{u} W(u) f(0+).$$

Thus,

$$S\left[P(\dot{D})f\right](u) = \left[a_0 + W(u)\frac{1}{u}\right]S\left[f\right](u) \\ -\frac{1}{u}W(u)f(0+) - M_P(u)\varphi(f;n) + \frac{1}{u}W(u)f(0+) \\ = P(u)S\left(f\right)(u) - M_P(u)\varphi(f;n).$$

In general, if f be differentiable on (a, b) with a < b, and f(t) = 0, for t < a or t > b and $f^{(n)} \in L_{loc}$, then for all u,

$$(4.5) \qquad S\left[P(D)f\right](u) = P(u)(Sf)(u) - M_P(u)\left[e^{-\frac{a}{u}}\varphi(f;a;n) - e^{-\frac{b}{u}}\phi(f;b;n)\right].$$

In particular if we consider $y(t) = \sin(t)$. Clearly, y'' + y = 0, and so if we put f = yH, then f'' + f = 0. Thus,

$$\left(D^2 + 1\right)f = 0.$$

Since dom(Sf) is contained in $(0, \infty)$, we have from Eq. (4.1), and Eq. (4.2), with n = 2 and $P(x) = x^2 + 1$, for u > 0,

$$0 = \left(\frac{1}{u^2} + 1\right) S(f) - \left(\frac{1}{u} \ \frac{1}{u^2}\right) \left(\begin{array}{cc} 0 & 1\\ 1 & 0 \end{array}\right) \left(\begin{array}{cc} 0\\ 1 \end{array}\right).$$

Since $\varphi(y,2) = (f(0), f'(0)) = (0,1)$. Thus, from the above equation, we get

$$S\left[\sin(t)H(t)\right] = \frac{u}{u^2 + 1}.$$

Now let y be n times differentiable on $(0,\infty)$, zero on $(-\infty,0)$ and satisfy

(4.6)
$$P(\dot{D})y = \sum_{i=1}^{n} f_i * g_i,$$

under the initial conditions:

$$y(0) = y_0, y'(0) = y_1, ..., y^{(n-1)}(0) = y_{n-1}.$$

Then, $y^{(k)}$ is locally integrable and Sumudu transformable for $0 \le k \le n$, and thus Sumudu transform of Eq. (4.6) is given by

$$(4.7) \quad M_P(u)\varphi(y,n) = \left(\frac{1}{u}\frac{1}{u^2}...\frac{1}{u^n}\right) \begin{pmatrix} a_1 & a_2 & ... & ... & a_n \\ a_2 & a_3 & ... & a_n & 0 \\ a_3 & ... & a_n & 0 & 0 \\ ... & ... & ... & ... \\ a_n & 0 & ... & ... & 0 \end{pmatrix} \begin{pmatrix} y_0 \\ y_1 \\ ... \\ ... \\ y_{n-1} \end{pmatrix},$$

and the non homogeneous term is a single convolution. In particular, if n = 2, we have

$$\begin{pmatrix} (4.8) \\ \left(\frac{a_2}{u^2} + \frac{a_1}{u} + a_0\right) S(y)(u) = S\left(f_1 * g_1 + f_2 * g_2\right)(u) + \left(\frac{1}{u}\frac{1}{u^2}\right) \begin{pmatrix} a_1 & a_2 \\ a_2 & 0 \end{pmatrix} \begin{pmatrix} y_0 \\ y_1 \end{pmatrix}.$$

On taking the inverse Sumulu transform for Eq(4.8), we have the solution of Eq. (4.6) as follows:

(4.9)
$$y(t) = S^{-1} \begin{bmatrix} u \left[S\left(f_{1}\right) S\left(g_{1}\right) + S\left(f_{2}\right) S\left(g_{2}\right) \right] \\ P(u) \end{bmatrix} + S^{-1} \begin{bmatrix} a_{1}y_{0}u + a_{2}y_{0} + a_{2}y_{1}u \\ u^{2} \end{bmatrix},$$

provided that the inverse transform exists for each term in the right hand side of Eq. (4.9). Now, let us multiply the right hand side of Eq. (4.6) by a polynomial $\Psi(t) = \sum_{k=0}^{n} t^{k}$. Then, we obtain an equation with non constant coefficients in the form of

(4.10)
$$\Psi(t) * \left[P(\dot{D})y \right] = \sum_{i=1}^{n} f_i * g_i,$$

under the same initial conditions as given above. By taking the Sumudu transform for Eq. (4.10) and using the initial conditions, we have

$$S[y](u) = \frac{F(u)G(u)}{k!u^k P(u)} + \frac{1}{P(u)} \left(\frac{1}{u} \frac{1}{u^2} \dots \frac{1}{u^{n+1}}\right) \begin{pmatrix} a_1 & a_2 & \cdots & \cdots & a_n \\ a_2 & a_3 & \cdots & a_n & 0 \\ a_3 & \cdots & a_n & 0 & 0 \\ \vdots & \vdots & \ddots & \vdots & \vdots \\ a_n & 0 & \cdots & \vdots & \vdots & 0 \end{pmatrix} \begin{pmatrix} y_0 \\ y_1 \\ \vdots \\ \vdots \\ \vdots \\ y_{n-1} \end{pmatrix}.$$

By taking inverse of the Sumudu transform, we have the solution provided that the inverse exist.

In particular, consider the differential equation in the form of

(4.11)
$$y''' - y'' + 4y' - 4y = 2\cos(2t) - \sin(2t)$$

 $y(0) = 1, y'(0) = 4, y''(0) = 1.$

On using Eq. (4.1), we have

(4.12)
$$\left(\frac{1}{u^3} - \frac{1}{u^2} + \frac{4}{u} - 4\right) S(y)(u) = S\left[\cos 2t\right] + S\left[\sin(2t)\right] + M_P(u)\varphi(y,4)$$

and

$$M_P(u)\varphi(y,4) = \left(\frac{1}{u} \ \frac{1}{u^2} \ \frac{1}{u^3}\right) \left(\begin{array}{cc} 4 & -1 & 1\\ -1 & 1 & 0\\ 1 & 0 & 0 \end{array}\right) \left(\begin{array}{c} 1\\ 4\\ 1 \end{array}\right)$$
$$= \frac{1}{u} + \frac{3}{u^2} + \frac{1}{u^3}.$$

Then, we obtain:

(4.13)
$$Y(u) = \frac{u^3 (2u+1)}{(4u^2+1)(1-u+4u^2-4u^3)} + \frac{(u^2+3u+1)}{(1-u+4u^2-4u^3)}.$$

Replacing the complex variable u by $\frac{1}{s}$, Eq. (4.13) turns to:

(4.14)
$$Y\left(\frac{1}{s}\right) = \frac{s(s+2)}{(s^2+4)(s^2+4)(s-1)} + \frac{s(s^2+3s+1)}{(s^2+4)(s-1)}$$

Now in order to obtain the inverse Sumudu transform for Eq.(4.14), we use

$$S^{-1}(Y(s)) = \frac{1}{2\pi i} \int_{\gamma-i\infty}^{\gamma+i\infty} e^{st} Y\left(\frac{1}{s}\right) \frac{ds}{s} = \sum \text{residues} \left[e^{st} \frac{Y(\frac{1}{s})}{s}\right].$$

Thus, the solution of Eq. (4.11) is given by:

$$y(t) = \frac{13}{8}\sin(2t) - \frac{1}{4}t\cos(2t) + e^t.$$

Now, if we consider to multiply the left hand side of Eq. (4.11) by the non constant coefficient t^2 , then Eq. (4.11) becomes

(4.15)
$$t^2 * (y''' - y'' + 4y' - 4y) = 2\cos(2t) - \sin(2t)$$

 $y(0) = 1, y'(0) = 4, y''(0) = 1.$

By applying a similar method, we obtain the solution of Eq. (4.15) in the form:

$$y_1(t) = \cos(2t) - t\sin(2t) + \frac{3}{2}\sin(2t)$$

Remark 4.2. A very interesting fact about the Sumudu transform is that the original function and its Sumudu transform have the same Taylor coefficients except for the factor n!. Thus, if $f(t) = \sum_{n=0}^{\infty} a_n t^n$, then

 $F(u) = \sum_{n=0}^{\infty} n! a_n t^n$; see [6]. Furthermore, Laplace and Sumudu transforms of the Dirac delta function and the Heaviside function satisfy:

$$S_2[H(x,t)] = \mathcal{L}_2[\delta(x,t)] = 1,$$

and $S_2[\delta(x,t)] = \pounds_2[H(x,t)] = \frac{1}{uv}$; for details, see [3], where the concept of the Sumudu transform was generalized to distributions.

By using discontinuous or impulsive forcing terms, the Sumudu transform can be used to solve ODE(s) as well as PDE(s) in engineering problems.

Acknowledgements

The authors gratefully acknowledge that this research was partially supported by University Putra Malaysia under the Research University Grant Scheme 05-01-09-0720RU and Fundamental Research Grant Scheme 01-11-09-723FR. The authors also thank the referee for very constructive comments and suggestions.

References

- M. A. Asiru, Sumudu transform and solution of integral equaions of convolution type, Internat. J. Math. Ed. Sci. Tech. 32 (2001) 906-910.
- [2] F. B. M. Belgacem, A. A. Karaballi and L. S. Kalla, Analytical investigations of the Sumudu transform and applications to integral production equations, *Math. Probl. Eng.* **3-4** (2003) 103-118.
- [3] H. Eltayeb, A. Kılıçman and B. Fisher, A new integral transform and associated distributions, *Integral Transforms Spec. Funct.* **21** (2010) 367-379.
- [4] M. G. M. Hussain and F. B. M. Belgacem, Transient solutions of Maxwell's equations based on Sumudu transform, *Progress in Electromagnetics Research* 74 (2007) 273-289.
- [5] J. M. Tchuenche and N. S. Mbare, An application of the double Sumudu transform, Appl. Math. Sci. (Ruse) 1 (2007) 31-39.
- [6] J. Zhang, A Sumudu based algorithm for solving differential equations, Comput. Sci. J. Moldova 15 (2007) 303-313.
- [7] A. Kadem, Solving the one-dimensional neutron transport equation using Chebyshev polynomials and the Sumudu transform, An. Univ. Oradea Fasc. Mat. 12 (2005) 153-171.
- [8] A. Kılıçman and H. Eltayeb, A note on defining singular integral as distribution and partial differential equation with convolution term, *Math. Comput. Modelling* 49 (2009) 327-336.
- [9] A. Kılıçman and H. E. Gadain, An application of double Laplace transform and double Sumudu transform, *Lobachevskii J. Math.* **30** (2009) 214-223.
- [10] A. Kılıçman and H. Eltayeb, On the second order linear partial differential equations with variable coefficients and double Laplace transform, *Far East J. Math. Sci. (FJMS)* **34** (2009) 257-270.
- [11] A. Kılıçman and H. Eltayeb, A note on integral transform and partial differential equations, Appl. Math. Sci. (Ruse) 4 (2010) 109-118.
- [12] G. K. Watugala, Sumudu Transform: a new integral transform to solve differential equations and control engineering problems, *Internat. J. Math. Ed. Sci. Tech.* 24 (1993) 35-43.
- [13] G. K. Watugala, The Sumudu transform for functions of two variables, Math. Engrg. Indust. 8 (2002) 293-302.

Adem Kılıçman and Kamel Ariffin Mohd. Atan

Department of Mathematics and Institute for Mathematical Research, University Putra Malaysia, 43400 UPM, Serdang, Selangor, Malaysia

- Email: akilicman@science.upm.edu.my
- Email: kamel@putra.upm.edu.my

Hassan Eltayeb

Department of Mathematics, College of Science, King Saud University P.O. Box 2455, Riyadh 11451, Saudi Arabia

Email: hgadain@ksu.edu.sa